THE D.E

iy

1) Order of (22) +(2) +3y =x* is
)3  2)1  3)2 4)4

2) If m and n are order and degree of the

25 ul
e palsd) @y o

equation R
| of :T II

then (m, n) =
1) (3,3) 2)(3,2) 3)(3,3) 4)(3,1)

3) Order and degree of the differential
equation ==+ 2= =7 is

Iy

171, 21,2 321 422

4) The degree of differential equation
1

r=14(2) 4 2(2) +2(2) 4 is
1) three ' ) one
3) not defined 4) four

5) The degree of differential equation of
all circles in the first quadrant touching
the coordinate axis 1s
1) 2 2) 1 3) 3 4) 4

6) The order of the differential equations
satisfying 1 =2"+v1=x"=a(x? =7
is
1) 1 2) 2 3)3 4) 4

7) The differential equation representing
the family curves y* = 2¢(x + ) when
'c’ is a parameter is of
1) degree 2) order
4) degree 4) degree 1

B) The differential equation of all conics
with centre at origin is of order
1) £ ) 3 3) 4 4) 1

9) The degree and order of the differential
equation of all tangent lines to the
parabola x2 = 4y is
1721 2) 2.2 31,3 4)1.4

10) The degree of differential equation of

which ¥° = 4a(x + a) Is a solution is

1) 2 2) 3 3)1 4) 4

BASED ON FORMATION OF
DIFFRENTIAL EQUATIONS

11) If y o= g% 4 Qg™ satisfies the
differential equation y,+ Ay, +8y=10
then
1) A=12, B=13
3) A=-12, B=-13

2) A=13, B=12
4) A=-13, B=-12

12)D.Eof y=Ae™ + Be™™ + Ce is
1) vy = 6ys + 11y, = 6y =0
2) ya+ by + 11y, + 6y =10
3y, =6y; + 11y, +6y=0
4) ¥y = 6yy = 11y, — 6y =0

13) D.E whose solution is y = ¢™(cjcosx +
Co5inx)
1) v; =3y, +5y=0
2) v =6y, + 10y =0
)y +6%, + 10y =0
4) y; = by, = 10y =0

14) The D.E whose solution is y = csinx is
1}E=}'m-!': 2y +y¥y=10

d 4
3) H-F = YCOSX 4) u—"' = YCOSECX
K |

15) The D.E whose solution IS y =ax® +

bx + ¢ IS
l)ys=y 2lys=X%
Iy:=0 d)y; =10

16) The D.E whose solution is ¥* = 3ay -
x? is
1) (x —¥*) ;—i = 3x"y

2) (' - y*) 3E = 3xy
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3) (" = ¥) 'r;"= 3xy
4) (y* = x%) E: Ixy

17 The D.Eof xy=ae* + be ™ 4+ x' IS
1} xy;+ 9 +xy =10
2l xy, +2v,=xy+ 2 -x°
3) xy; + 2y = x¥
dlxy;+2y, +xy+2=0

18) The differential equation of Ffamily of
Circles x*+y*+2ix+c=0 Is (where
4, € both are parameters)
] g
1)y X+(F) +1=0

4

19) The solution of 2 ==L is
L){l=x){1+y)=¢
2) —=«
J(l=x1=y)l=¢
q)

I4x
=
S

20) The solution of :—* + ytanx = 0 is
1) v = a cosx
Z2) ¥ = a sinx

3) ¥y = logcosx + ¢
4) vy = atanx +¢

21) The solution of 2 = 12X

1 P T

5

1) tan™'y = cosx + ¢

2) tan"ly = sinx + ¢

3) ¥ = cosecx + ¢

4) log(l+v')=cosx +¢

22) The solution of 5% = ek is

1) 2y =x*+¢ 2y y=xt+¢
Nyi=x+c ) ry=x+c
23) The solution of E = -:l—:; s

1}3(y =x* )= 2{x" +¥' ) +¢
2)3y +x)=20x"+¥y") 4+
3) xioyt = x4yt b
4) x*4y'mx' ¥y

24) The solution of (1 + e )ydy = e*dx IS
1) ¥* = logcle® + 1) 2) ’5': = jog ce’
3) : = logc (e* + 1)
4) 2y = loge (¥ + 1)

25) The solution of ydx = xdy =0 is
1) y=cx 2) y=x?

The coordinate axis 1s..

DIFFRENTIAL EQUATIONS

3) y=c

4) x? = ¢y

26) The solution of the D.E ydx — xdy +
Ixiyle® dy = 0 s
1) x+e* =cy
N x—ye* +c=0
4) x + ve*t +eyi =10

2)x+ye* —cym0

27y When x=0, y=-1
solution of the D.E
(1+x)dy=0Is
1lx+y+xy=m]l 2)zx+y+1m3y
Nx+v+xvy+l=0D0
4)x=yp+xy=]

the particular
(1+y)de+

28) The solution of
e lzeciydy = 0I5
1) tany = g{1 — &%)
2) secy = ¢l —e*)
Jany=(1=¢*)=¢
4) secy=1-—g¥

et tunydx + (1 -

29) The solution of
(1=e*)cotydy =0
1) tany = cle® = 1)
2) tan*y = (* = 1)c
3) coty = cle* —1)°
4) tany = c(e* = 1)*

3ecos®ydx +

30) Solution of the differential equation

T e L i E
S '”"':I.lr+|: - +.*-|r|_1.r;]-:!}'=ﬂ|5

CosT ey
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1) tan{xy) = cosx = cosy = ¢

2) tan{xy) + cosx — cosy = ¢

3) tan{xy) + cosx + cosy =¢

4) tan{xy) — cosx + cosy = ¢
31) The population (x) in any year (t) is

such that the rate of increase is
proportional to the population then

1) x = ct 2) ¥ = ca”
3) x=ce™ d)x=c
BASED ON HOMEGENOUS D.E
32) The solution of the differential

equation x*dy + y(x + yldx = 0 i5
1) ¥’y =c*(2x +¥)
2) xy? = c*(2x + ¥)
J) x°y = (x + 2¥)
4) xy? = c¢'(x + 2v)

33) The solution of :—': aZ 4 .-::'n{T—] i5

1) tan {:r:l cx = .
2) tan {::—U} —-ex =10
3) tan {f—:;l tex=-x=0
4} xin [‘—.} —rx =10

34) Solution of y*dx + (x* =xy+ ¥ )dy =0
1) Tan™* Iiﬂ +logy +¢c =0

: 1 fx Mo
2) 2Tan [.,.]I +logy +¢ =10

3) logly+ Jx + ¥ ) +logy+c=0
4) log(y = Jx? + ¥ ) ~logy +c =0
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35:' Solution of ":_: __ E=1y+]

It =3
1) x =y =fay+b6x+ 10y=¢
2) x4+ yi4xyd+xr=3y=¢
) x* =y 4+2xy—-x+Iy=c¢
) x*+y=xy+xr=3y=c

36) The substitution required to change
By—Tx+7ddx+(Ty—3x+3dy=0 to
a homogeneous differential equation
is
1)x=X+1y=Y
2x=Xy=¥Y+1
Nx=X+1ly=Y+1
Px=sX+2y=¥+2

INTEGRATING FACTORS OF
DIFFERENTIAL EQUATION

37) The Iintegrating Ffactor of the
differential equation (1 - },::]j_; + yx =
ay(=1<y<1)

D5 2} e
) 1 )

38) 1.F of .'fh]_:;.rE + y = 2logx
1) x 2) log x
3) log (logx) 4) =

39) LFof (1 +xM) 2 +y = g™

1) tan~'a 2 gt

3) == 4) Tan x
40) LF of & = <222

1) — 2) =

3) log{x + 1) 4) logly + 1)

41) L.F of ':—T = yeof ¥ = cosecy IS

1) sin x 2) tan x
3) sec x 4) COsec x

42) Solution of '-'l+ 2y me~¥F |g

1) ye*=1+ce™
2lye*=14+ce”*
lvx=e"*+c

) efy=pg T g™

BERNOULLIS EQUATION

43) The transformed equation of

xin2y = xcosty
1) E + .i =y
ET]

3} F+ 2ix = 1

L,

L3

E]E?+r|.1.”-1—
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